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200 M2l
2t 210 ZAEM 5L
g 212 AlEEad (e =&
F-&4-8.5 Ol &F oM & EH 0l &K Hns2
ES Al 8,490,183 12,298,382 23,808,199
200 Mi2l+=¢ 4,437,510 4,077,950 359,560
210 ZaEAN e+ 380,830 391,870 211,040
212 Ar22¢ 216,230 216,230 0
212-08 =xte3I=+L 208,470 208,470 0
<USHHIL > 208,470 208,470 0
OFxe3+¢ 208,470
“SEHFEIE =23 Y 176, 3002 *3002 52,890
-AEIFE Fes =Y 52,500 300 15,750
—RE2FIE =2z =2 85,800 300 25,740
-SO0IFEXE F=Xes =2 116, 100&+300& 34,830
-oforsg F=xead = 140,000& *300 42,000
-HHEZ2 FXUHE F=X2S =Y 85,90024+3002 25,770
-gu =iE FIies Y 33,300& *300 11,490
212-09 JIEtAIE = 7,760 7,760 0
<WSHFL > 7,760 7,760 0
OSRANEFIE 2eIE =25 7,760,000& 7,760
213 =2 144,600 155,640 A 11,040
213-01 X+ 144,600 155,640 211,040
< ANSXSEARL > 144,600 155,640 211,040
OXtsxt MPEF 2,000 x45024x 12& 10,800
OXSt OIMSE 1,000 +1,40021* 128 16,800
ONsxsES Mu=? 7002+30024* 123 2,520
ONtsxt 4S8 1,000&*20024* 12 2,400
OXsxt S82% 300&*40021* 12 1,440
OXtsx MYEdH 40,000 10024 * 128 48,000
OXsSIt e 1,000 #4024 * 122 480
OXtsxt HES=E 11,3002 x20024x 12& 3,120
OAHEIH MRSSE 4,000 %1021 * 128 480
OAHEIH HA L OIMSE 1,000 %8021 * 128 960
OHEIH SERR 5002 %1002+ 12& 600
OHEIIH 3N HAE L2 2,5002 10021+ 128 3,000
OH&IIH MYLE 250,000 *2024 % 128 *90% 54,000
216 Ol Kt==& 20,000 20,000 0
216-01 30301 K=& 20,000 20,000 0
<USHF > 20,000 20,000 0
O330 30Xt 20,000,000 20,000




200 A2l
220 SAIEAN+
224 J|Et==E
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F-&4-8.5 Ol &F oM & EH 0l &K Hns2
220 YAIZN 2= 720,720 720,720 0
224 J|Et==2 720 720 0
22407 12+ 720 720 0
< NSAUST|ARL > 720 720 0
OXSIHASE HIJ| OH=2CH 60,0002 12& 720
5 NtE S 720,000 720,000 0
22501 KItE = 720,000 720,000 0
<USHAL > 720,000 720,000 0
OFFXUHE = 40,0002 *1,50021* 128 720,000
230 XNIZAHZMI - St= 3,335,960 2,965,360 370,600
231 &2 75,600 87,600 212,000
231-01 &= 75,600 87,600 A 12,000
< NSASEMPA > 75,600 75,600 0
OXSREaliia e S = =Y
400,000 x 10244 x 128 48,000
OXrsxtely </t &
,000,000& x224* 128 24,000
OXtS X0 M & & | el 300,000 12& 3,600
234 WEHZ 2,820,360 2,437,760 382,600
23402 JIEtHEHZ 2,820,360 2,437,760 382,600
<wS#HE > 1,785,960 1,403,360 382,600
oAz ¢ 20,0002 #4CH =122 960
OFF Xtz =< 1,785,000,000& 1,785,000
< NSASEMPA > 1,034,400 1,034,400 0
OXtsxt2ely <et 3,000,000+ 128 36,000
OoRSE0IIt It 46,000,000& 128 552,000
OZAMXIHUEZE = 35,000,000 *12& 420,000
OA&I A=Y <
1,500,000 123 18,000
OO0IEXIEZ 700,000& x 128 8,400
236 2= 440,000 440,000 0
23601 2= 440,000 440,000 0
<USHHILL > 440,000 440,000 0
OunssLedga 440,000,000& 440,000
700 EMd=USHLHEHE 4,052,673 5,894,432 A1,841,759
720 LH=D1cH 4,052,673 5,8%4,432 21,841,759
721 ¥3 4,052,673 5,894,432 A1,841,759
721-03 JIEF| A& S 4,052,673 5,894,432 21,841,759




B 700 BEAUSULR Y
2 720 2 HH
g 721 Hel3 (ol E)
op-g-2 o & o rSJEL=L IR HimEET
<WSHFL > 4,052,673 5,8%4,432 841,759
ODSAYSESIN N HAH SAKISE T4 (10%)
1,130,573,000& 1,130,573
001301014t 520,000
“SYS HASYZ BFMM 100,000, 0002 100,000
-ZDE NEFNE =4 300,000,0002 300,000
~0IIE el =RIEAl | 50,000, 0002 50,000
~HAEHOHIDIBIT) £ X 70,000, 0002 70,000
OFITE ThHI Ol 835,100
~H2E Il AILIBHA LED BAT QDI &R 235,100
- MAE CHEl ASWSHA A 250,000,000& 250,000
-MIMAE CHHl RSHEAIA A 150,000,000& 150,000
“HIHE U] HAE RSO (BIT) EX
200,000,0002 200,000
Ogete[H N& MU= 1,567,000
=3 OV DA L SSHH(DFE, 01SE)
25,000,000 *4CH 100,000
-Hglol 379 FH| 300,000,000 300,000
B 50012101, = 01) B 100,000, 0002 100,000
“DEASES &2 MO B 10,000,002 574 2 50,000
-DEASS 3227 L SNl SLIA
200,000,000 200,000
“DEAMDIBNY DASEIHEL SX(SEZEA
WSOHMAIA JHA) 35,000,000 *67H 2 +50% 105,000
-Hi2ue DEEAILE 2AKE 100,000, 0002 100,000
-L& CHIA(XA S) &l 300,000,000& 300,000
~SEARN DEATAILC IILAE DEATAIL
= &l 20,000,000& *43] 80,000
SDE AZADXIE HEAH 100,000, 0002 100,000
~olRlolE e DXz L2l &X
22,000, 0002437} 4 66,000
-A2 SUIFEHE &4 10,000,000 *37H £ 30,000
-2otel DEAS HOAIAY SX2E 8
20,000,000 20,000
-SHAISZE FX2 4,000,000 *4H 2~ 16,000




